[llmm¢osanpHas MamyHa Aspro-C6




Ne | HammeHoBaHMe ApTUKRYA Kon | Ne HanmeHoBaHue ApTUKYN Kon
n/n n/n

1 Kpyr abpasuBHbIi 1 50 | KoXXyx KpblnbyaTKu AKopA 1
2 Aunck 1 51 BuHT-camopes ctatopa ST4x55 2
3 LWaliba peTtpoBsas 1 52 | Cratop 101699 1
4 lO6kKa 101648 1 53 | Kopnyc asuratens 101440 1
5 Konbuo ctonopHoe B335 1 54 | BuHT M4x20 4
6 BuHT-camopes 4x14 23 |55 LeTkoaep»Katenb 2
7 KoXKyx ancka 1 56 | WeTKa yronbHan 5x8x16 100625 2
8 lnuHaens 101433 1 57 | BunT-camopes ST3x8 2
9 BMHT M4x12 8 58 MpyXMHa WeTKn 2
10 | Wanba npy*nHHaa M4 16 | 59 | XBOCTOBMK Kabens 3
11 | KpblwKa peaykropa 101432 1 60 | KpbiwKa Kabenn 1
12 | NoAWwunHUK wWnuHa. 6001 101655 1 61 | 3axum Kabens 1
13 | CTonopHoe KonbLo BHYT. @28 1 62 BuHT-camopes ST4x8F 2
14 | CronopHoe KonbLo BHew.@P12 1 63 | 3a4HAA KpblIWKa Kopnyca 1
15 | Wapwuk @3 1 64 | BuHT-camopes ST4x12F 4
16 | WecTtepHa Begomasn 101431 1 65 PykoAaTKa 3a4HAA nNpaBasn 4YacTb 1
17 | NoawwnnHuk uron. HKO808 2 66 | Apgantep 1
18 | Mpy»XunHa 4 67 | Tpybka Teneckonumyeckas 550mm 1
19 | Kopnyc pegykTopa 1 68 PyKkoATKa 3agHAA NpaBas 4acTb 1
20 | NopwwunHuk 6001-2Z 101655 1 69 | Kabenb c Bunkoii 2x0,75 1
21 | Ban npomexyTouHblit 101435 1 70 | XBocTOBMK Kabens 1
22 | Wapuk @2,5 1 71 PyKkoATKa neBadA 4acTb 1
23 | WecTepHsa 101441 1 72 | 3axKmMm Kabens 2
24 | Konbuo cronopHoe @10 1 73 Bbikntouatenob 1
25 | BuHT-camopes ST4*16-F 17 | 74 | Perynatop cKopoctu 101397 1
26 | KpblwWwKa nbinecoca 101437 1 75 MpoknagKa ¢peTpoBas 3
27 | NogwunHuk 608RS 101656 2 76 | Mpoknaaka detpoBan 1
28 | Konbuo cronopHoe @9 1 77 MNnata ynpasaeHua 1
29 | KpblibyaTKa 101436 1 78 Kabenb 3x0,75 1
30 | Ban KpblabyaTKu 101438 1 79 | WraHra (Tpy6a) 430mm 1
31 | CanbHMK BaNa KpblabyYaTKM 1 80 | PykoAaTKa npaBaa CTOPOHa 1
32 | WecTepHa Bana KpblibyaTKy 101650 1 81 | KpblwKa WwapHUpa 3aaHan 1
33 | lalika caMoKOHTp. M6 2 82 | WtndT wapHmpa 1
34 | KOXyX KpblNbYaTKK 101651 1 83 Pbluar ¢puKcaTopa wapHupa 1
35 | Kopnyc nblnecoca 101434 1 84 | Wtundt 5x15 1
36 | WTtnoT @2,5x16 1 85 | 3a)Kum wapHupa 1
37 | lalika camoKoHTp. M5 1 86 | KpblwWwKa wapHupa nepeaHAa 1
38 | 3axum neBas YacTb 101392 1 87 | WapHwup 3aaHAa yacTb 1
39 | BuHT M4x25 4 88 | 3aknenka 1
40 | Wanba M4 4 89 | KonbLo ynnoTHUTENBHOE 1
41 | Kopnyc peayKkrtopa 101444 1 90 | WTtndT 5x45 1
42 | 3akum npasas yacTb 101392 1 91 | LWapHup nepeaHas 4acTb 1
43 | BuHT M5x14 1 92 | WTaHra (Tpy6a) 215mm 1
44 | WWecTtepHAa akopA 101402 1 93 WnaHr ropp. 410mm 1
45 | NoplmnnHUK aKopa 629RS 101647 1 94 | XomyT 1
46 | Akopb 101401 1 95 | [JepsaTesnb npasas 4acTb 1
47 | Konblo 3almTHOE 1 96 BuHT M6X20 2
48 | MoawunnHuk akopsa 607RS 101642 1 97 | [epxatenb nesasa 4yacTb 1
49 | Jemndep noALMNHUKA 1




—— e —

S

e . =
——

@

ADS2z

@"*ﬁma

Hitsnorse .

H4d00zzy?

HE-SN




	C6
	CIMG4192



